
1. A. Translate into Greek. [50]

The Spartans ........................... disheartened 9
Running quickly .................................... day 6
At once ......................................... assembly 5
he told...................................... to help them 13
“If you ....................................... your city.” 12
However ............................. the messenger. 5

1. B. [50]

(a) 4
(b) 6
(c) 4
(d) 4
(e) 6
(f) 6
(g) 4
(h) 6
(i) 6
(j) 4

2. Any three of A, B, C, D. (3 x 60) [180]

A.
�� δ� Λακεδαιµ�νι�ι ................. να�αρ��ν. 6
� δ� �φικ�µεν�ς ........................... �φ�κετ�. 15
�πε� δ� ............................................ γεν�σθαι. 16
Κ�ρ�ς δ� .............................................  κειν 12
�!ν δ� ............................................ �ρυσ��ν. 13

B.
%& γ!ρ ................................... τ�� π�ιητ��. 7
δε( ................................................ �κ���υσι) 7
�δ�νατ�ν .................................. τ*ς τ��νης, 14
κα� �,µαι ..................................... -σας �γ.. 14
Ε0 λ�γε�ς ............................... τ2ν 3%µηρ�ν) 13
4στε ................................... στεφανωθ*ναι. 5

C.
κα� ν�ν .............................................. τ67 σ67. 11
δειν� ........................................... φυλακτεα. 8
8 φιλτ9τη .................................... δυστυ�ε(. 9
τ� ............................................................. �µ�; 9
τ2ν π6α(δα ................................... ;πε<�θ�υ. 9
�πωλ�µην ......................................... γ�πες. 7
� δ� .................................................... µ�νων. 7

D.
τ2ν δ� ................................................... η=δα) 6
“�&κ�τι, ...................................... πεσ��νται. 12
�� µ�ν γ!ρ ........................................ Τρ.ων 14
�λλ� �µ� .............................................. @ιστ�ν 8
�π �υτ�� ........................................... �σθλ9 9
τα σε ....................................... Κεντα�ρων” 11

3. Section A or Section B. [80]

A.
(i) Translate into English. (50)

�λλ� �γB ...................................... ε,ναι. 16
�γB δ� ................................ �φθ�νησα, 12
�&δ� �ρCµατα ................ Dν Eν λ�γω. 12
κα� τ��των .................. µCτε �δ�δα<α. 10

(ii) Answer any three.      (3 x 10) (30)

(a) (3 + 3) + 4

(b) 5 + (3 + 2)

(c) 7 + 3

(d) 5 + 5

(e) 5 + 5

B.
i(i) Translate into English. (50)

3Εκτωρ δ� .......................... Πηλειωνα) 3
GµHρ�τες ............................... Iφης γε) 7
�λλ9 τις ............................... λ9θωµαι. 7
�& µ�ν µ�ι ....................... Iδωκε θε�ς) 10
ν�ν α0τ� ........................ πJν κ�µ�σαι�. 6
κα� κεν .......................π*µα µ�γιστ�ν.� 7
K ρα,  .............................. σ9κε�ς δ�ρυ 10

(ii) Answer any three        (3 x 10) (30)

(a) Impression ex 10

(b) Impression ex 10

(c) 5 feet x 2. Omit name of metre – 2.

(d) 5 + 5

(e) Impression ex 10

4. Answer three questions (3 x 30) [90]

A.
(i) 8 + 8 + 7 + 7

(ii) (8 + 7) + (8 + 7)

(iii) 10 + 10 + 10

(iv) 10 + 10 + 10

B.
(i) 8 + 8 + 7 + 7

(ii) 10 + 10 + 10

(iii) 10 + 10 + 10

(iv) (a) 5 + (5 + 5)

(b) 5 + (5 + 5)

(c) 5 + (5 + 5)
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ADDITIONAL NOTES FOR ANCIENT GREEK ATAL MARKING SCHEME, 2006.

Qu. 1A. Penalty System applied.
Bonus Marks: (40 – 49) + 1; (30 – 39) + 2; (20 – 29) + 3; (10 – 19) + 4; (1 – 9) +5.

Qu. 1B. (a) 54 years
(b) Azotus held out the longest of all cities we know of. / it held out for 29 years
(c) The Red Sea
(d) Darius the Persian
(e) 4 days’ sailing
(f) 2 triremes while being rowed could travel together
(g) The Nile
(h) 120,000
(i) Those who do not speak the same tongue as themselves
(j) To warfare

Qu. 3A (ii) (a) Corrupting the young + Introducing new gods
Youths flock to him to see elders exposed. He not set out to be a teacher
Not follow conventional theology – own daimon – does respect Apollo

(b) Travelling teachers who offered knowledge and skills for a fee
Socrates not a teacher – concerned with truth and real values – not charge a fee

(c) Dialetic – questioning, analyzing the views of the other person
People do not like to be proved wrong – many rejected him

(d) Anytos: one of the prosecutors
Leon: Socrates refused to obey orders to bring him from Salamis for execution
Kriton: Present in prison at death of Socrates

(e) µ�υ – Genitive after �κ�υε�ν / Also accept Genitive Absolute
H��ληται– Subjunctive in (implied) Indefinite Construction / Also accept Subj. after �9ν

Qu. 3B (ii) (a) Enraged – refused pact – disrespects Hektor’s dead body

(b) Reproaches Zeus – Encourages Akhilleus – Disguised urges Hektor to fight

(c) LΕκτωρ / δε πρ�αε / ει πεν � / µυµ�να / Πηλει / ωνα – Dactylic Hexameter

(d) Andromakhe: wife of Hektor – Hears lament, suspects the worst – sees body dragged
Deiphobos: brother of Hektor – Athene disguises herself as him to trick Hektor
Patroklos: companion of Akhilleus – killed by Hektor

(e) Stock epithets – stock phrases – repetition

Qu. 4A (i) Underestimated Cleon; Incompetence in Sicily; Positive contribution at Peace of 421 BC.

(ii) Brasidas: Outward looking Spartan. Success in Chalcidice; Died in battle at Amphipolis 
Tissaphernes: Helped Spartans at end of Peloponnesian War; Anabasis; Spartan Empire 
Leuctra 371 BC: Thebans under Epaminondas defeat Spartans; Start of Theban hegemony 
Issus 333 BC: First battle between Alexander and Darius. Persian fled; family captured

(iii) Details of bringing Macedon from obscurity to control of Greece; Phalanx

(iv) Economic reforms: Constitutional reforms; reasons for them and effect.
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Qu. 4B (i) Outdoor; Seating; Orchestra; Parodoi; Stage; Skene. 3 Actors: Chorus; Masks; big gestures.

(ii) Halicarnassus to Thurii; 9 Books in Histories; Father of History; Storyteller; favours Athens.

(iii) Contrast figures and background; RF later style; greater detail in RF; No examples– minus 6.

(iv) (a) (Late) Archaic; – Stance; Hair; Eyes; Smile; Muscles.

(b) Erechtheum; – Flowing robes; legs visible; gathered in at waist; reserved look.

(c) Doric; – Heavy columns; plain capitals; triglyphs and metopes.
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1. Any three of A, B, C, D. (3 x 70) [210]

A.
�� δ� ........................................ Nλλ�υς δ�κα. 19
�ΑλκιHι9δης ....................... τ! Pαυτ�� τε��η. 14
µετ! δ� .................................... να�ς I��ντα. 15
Κ�νων δ� ......................................... �λQCRετ�. 22

B.
S9γκλη δ� ....................................... τTν γ*ν) 17
κα� �Uκιστα� ......................... �π2 Vαλκ�δ�ς. 9
Wν�µα δ� ..................................... καλ��σιν), 16
Yστερ�ν δ�......................................... Σικελ�6α, 13
τ�\ς δ� Σαµ��υς .................. �ντων�µασεν. 15

C.
π�λ\ς δ� ....................................... π�µπεται) 13
µ�ν�υσι δ� ...................................... Nσµεν�ι, 15
�] τCνδε ............................................... π�λιν. 7
�γB δ� .............................................. τ� �µ��ς) 21
�ρηµ�α γ!ρ .......................................... θ�λει. 14

D.
τ2ν δ� ............................................. ∆ι�µCδης 8
“εUµ�ν................................................. �Α�αι7ν 16
_� δι�πτε�σων .......................... π�λεµ�<ων) 8
εU δ� κ � ...................................... �Αργε��ισιν.” 16
K, κα� ............................................ λ�σσεσθαι, 11
� δ�  ................................................... τ�ν�ντε) 11

2. [100]

(i) Translate into English. (60)

� µ�ν δT ...................... γ�νεται µ�γα) 8
� ρµ.µεν�ς δ� ............. πρ2ς α&τ��. 12
τ�λ�ς δ�, ...................... Iλεγ�ν τ9δε) 6
L8 Hασιλε�, ................ �& δυν9µεθα. 9
ν�ν 8ν ............................ τ*ς �.ρης.� 9
�� µ�ν δT ............................ σφι τ9δε) 7
Lπαιδ2ς µ�ν ....................... ν�ν µ�λει.� 9

(ii) Answer any four.           (4 x 10) (40)
(a) 4 + 6
(b) Impression ex 10
(c) Impression ex 10
(d) 4 + 3 + 3
(e) Impression ex 10
(f) Impression ex 10

3. [90]

Answer three questions.            (3 x 30)

A.
(i) (8 + 8 + 8) + 6

(ii) (8 + 7) + (8 + 7)
(iii) 10 + 10 + 10
(iv) 10 + 10 + 10

B.
(i) 10 + 10 + 10

(ii) 10 + 10 + 10
(iii) 10 + 10 + 10.
(iv) (8 + 7) + (8 + 7)
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